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Name: Class: Date:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve the equation.

%2+ 6x—4=0

& x=-31.f13

b. x=1x u'rﬁ

C. x=-2%.f13

d x=-3% »Jrﬁ

e. The equation has no real roots.

2. Solve the equation.

5p% Sy—2=0
a5y .fgs
Y=o
b sy fa7
YT
c. o5+ 65
y=——a
d. y=5iu‘E
e Je7x5
Y=

3. Solve the equation.

2y 3y—-3=0
3
=gt
b. 31r
J,?:
C. 35+ 3
yE=——
d 3+ )35
y=—
c T+ Af33
y=—7
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4. Solve the equation.

2152+ 185+ 1=0

a. 1
Ty

b. s——l
]

c. 2
s=-3
d. s=—i
10

e. The equation has no real roots.



5. You are given an equation of the form y = ax? + bx + c. Determine the exact values of the x-intercepts by
using the quadratic formula. Then use a calculator to evaluate the expressions that you obtain. Round the
results to four decimal places.

y=-x2+6x-3

The graph has no solutions.

x=3+ ff # 0.5505, 5.4495



Find a quadratic equation with the roots of #; =1 — »\J'E and 7y =1+ «)‘E . Write the answer in the form

2 .
ax“+hx+c=0, where a, b, and c are integers and @=1.

a. x2 +4x+1=0
b. x? -x-1=0
c. x? -2x-1=0
d x? +x2=0
e. x> +2x-1=0

A ball is thrown straight upward. Suppose that the height of the ball at time 7 is given by the formula /# = - 18¢
2 +126t, where h is in feet and 7 is in seconds, with ¢ = 0 corresponding to the instant that the ball is first
tossed.

At what time(s) does the ball reach a height of 108 ft?

a. 1 sec, 6sec
b. 4sec
c. 3sec
d. 8sec
e. 3 sec, 8sec

Find all real solutions.

32 =4-yp*
a. y=-3,4,1
b. y=-4,-1
c. y=1,-1
d y=3,1
e. y=3,-4

2
b - 13
x:
2
¢ - 13
r=+x.i———
2
d N
rx=%
2
© L 1+ 17



10.

11.

12.

Find all real solutions.

3

1% =125
a. t=325
b. t=+ 425
C. t=zx4%
d. r=+25
e. t=5

Solve. Express your answer using interval notation.

x+a=1
()
b. (—m,ﬂ]
C. (—m,—ﬂ]
d.

(-5.)
)

Solve. Express your answer using interval notation.

sx+T7<diz-11-x

a ’_m_i
§ 11
b ”_ 2
11
c F—Hm]
W 2,
d [ =2
\._ﬁ,D]
e ’_m_H
4



13.

14.

15.

16.

Solve. Express your answer using interval notation.
dxt+l x-4 P 1
2 4 2
a. (— o, — 4)
b. [4, mj
C. (— co, — 4 ]
d. (4, mj
e (— oo, 4)
Solve. Express your answer using interval notation
-12x-5=10
a. (—m 4] 1 [5,:::)
b. [-5-4]
c. [4,5]
d. [4,0]
e. [4.5]
Solve. Express your answer using interval notation.
-T22x+3213
a. [:—m,—T] o [13, mj
b (57
c. [_ s, 5)
d [-55]
e. (— s, 7]
Solve. Express your answer using interval notation.
3.99<% - 153999
a. [14.97, 14.997]
b, [-14.997,-14.97]

e

[-14.997.14.97]
(14.97, 14.997)

e. (—m, 14.9?] v [14.991 mj

&



17.

18.

19.

Solve. Express your answer using interval notation.

iETI_liﬂ

10 -4 100

a. [13 66
_35’175
b [13 66
_35’1?5
S R I &
| . 357
d [_66 13
| 1757 34
e [_66 _13
§ 1757 34

Solve. Express your answer using interval notation.

I-x=35

o)
b ()

. [-2)
o (--2)
(-2

Solve. Express your answer using interval notation.

@

‘2—25;: -
a. | 2]
'\._m,_g.
b. [ 2 | ]
k—m,—g-u E,m
¢ "_m_g u[ll m]
=% =




20. Data from the Apollo 11 moon mission in July Error in evaluating expression: helpvar2 showed temperature

21.

22.

readings on the lunar surface varying over the interval —155% = = 1117 on the Celsius scale. What is the
corresponding interval on the Fahrenheit scale? (Round the numbers you obtain to the nearest integers.)
Express your answer using interval notation.

a. [-301°F, 301°F]
b. [-275°F, 257°F |

c. [-333°F, 333°F |
d. [-135°F, 54°F |
e. [-301°F, 232°F ]

Use the graph to solve the inequality.

0 =3zt —Ax+ 12210

a. (=2, )0 (3 co)
b. [—eo 32, 3]
c. (—-2.7

d. [-2 2[5 o)
€. no solution

Solve the inequality. Express your answer in interval form.
2
o =-dx+ 120

(2]
S CEE PR
C. [2—«,@,2+«E]
.- o [a )

e. no solution

P

&



23.

24.

25.

Solve the inequality. Express your answer in interval form.

(x—dix+ Dix+ D20

a
b
C.
d
e

[-5-2]w[4, )
{—eo, -9 w[-2 —4]
[—eo, — 9] w2, o)
[—eo, - 2] [9, o)

no solution

Solve the inequality. Express your answer in interval form.

(Tx- 17 (Tx - D (Tx- 610

€.

o 1oL 3], (6
s T T 7’

no solution

Solve the inequality. Express your answer in interval form.

o

3
o]oeo

nn solution
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Name:

Chapter 2

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1.

Solve the equation.

o a0 o w

2 —fx-2=0

I+

I+

aﬁ%ﬁ

The equatlon has no real roots.

Solve the equation.

Ly

o

€.

2 5p-1=0

S5+ /33

¥= 3

=Siﬁ

g

=Siﬁ

4

INETR:

y=—

y=5iﬁ

Solve the equation.

B +3y—1=0

a. S3+ 19
y= 7

b. -
y=?31 A 21

C. 19 +3
y=—0jy

d. 23+ Af21
y= -

Class:

Date:




4. Solve the equation.

052 + 65+ 1=0
a. 1
Ty
b _ 2
=
c. 1
T3
. __1
Z

e. The equation has no real roots.

5. You are given an equation of the form y = ax? + bx + c. Determine the exact values of the x-intercepts by
using the quadratic formula. Then use a calculator to evaluate the expressions that you obtain. Round the
results to four decimal places.

y=-x2+6x-3
a le_' = = T d.
_4_ Y '

=2 | 2 b J Gou

o - i Pt D, e i e o oy e o e

x=3+ 7 0.3542, 5.6458 x =73+ 6 = 0.5505, 5.4495



J'I:_. 1 R e e .I'l

x=3+ 7 = 0.3542, 5.6458

Find a quadratic equation with the roots of #; =1 — »\JE and 7y =1+ «)‘E . Write the answer in the form

2 .
ax“+hx+c=0, where a, b, and c are integers and @=1.

a. x> +2x-6=0
b. x? -2x-6=0
c. x2 +3x+6=0
d x? -x6=0
e. x2 +x7=0

A ball is thrown straight upward. Suppose that the height of the ball at time ¢ is given by the formula /# = - 13¢
2 +91¢, where h is in feet and ¢ is in seconds, with ¢ = 0 corresponding to the instant that the ball is first
tossed.

At what time(s) does the ball reach a height of 130 ft?

a. 5Ssec
b. 3 sec, 6sec
c. 1sec
d. 2 sec, Ssec
e. 6sec

Find all real solutions.

6y =7-y*
a. y=6,-7
b. y=6,1
c. y=-6,7,1
d y=1,-1
e. y=-7,-1



10.

11.

Find all real solutions.

x* +5x2 -1=0

& —5+ {29
r=z=
7
b.
L —5+ .23

E
Il

o,
|
A
+
g
pm)

4=

I+

o

L2
9
E |

x:

Find all real solutions.

3

1% =3

a. =12
b. t=+4
c. t=4
d =118
e. t=zx1Z

Solve. Express your answer using interval notation.

°



12.

13.

14.

Solve. Express your answer using interval notation.

T+ 37<2(x-1)—-=x=

a ’_m_ﬁ
s 4
b ’_m_i
§ 13
c. [ =2
\._13,[']
d I—Em]
W 2,
e ’_m_i
| 13

Solve. Express your answer using interval notation.

2x+1_x—4 1

; 5 CFT3
o (o
b 4
o (30)
o (o

()

Solve. Express your answer using interval notation.

-22x-720
(5] [7.)
b. [510]

c. [57]

d [-7.-5]

e. (5,

7)



15.

16.

17.

Solve. Express your answer using interval notation.

—-9=ix+1£11

@
|
|
O
.

u[ll,mj

Solve. Express your answer using interval notation.

3995%—4£39%

a. [15.98, 15.993]

b [-15.998,15.93]

c. (-u; 15.98] v [15.998,cnj
d. [-15998-15.98]

c.

[15.93,15.998)

Solve. Express your answer using interval notation.

9 _3x-1_ 3l

< €=
1m~- -3 100
a 173 17
3007 30
b 117 173
30° 300
c. [ 173 17
> 300 30°
-
d 17 173
30° 300
e 173 17
3007 30




Solve. Express your answer using interval notation.

5—-xx7

(20
b (a-)
c. [—z,m)
¢ ()
o [z

Solve. Express your answer using interval notation.

‘5—25;: o4
a. | 2 4
\._ ,_E]U[Eg,m]
b 2 24
I‘- 2 5 U 5:‘
c. [ z_4]
543
d. ’_m_g'
s
e A
e. |
_Z,4
575

Data from the Apollo 11 moon mission in July Error in evaluating expression: helpvar2 showed temperature
readings on the lunar surface varying over the interval —155% = = 1117 on the Celsius scale. What is the
corresponding interval on the Fahrenheit scale? (Round the numbers you obtain to the nearest integers.)
Express your answer using interval notation.

a. [-333°F, 333°F]
b. [-301°F, 301°F |
c. [-275°F, 257°F]
[-135°F, 94°F ]
e. [-301°F, 232°F]

&



21.

22.

23.

Use the graph to solve the inequality.

7 —3x —dx+ 1220

a. [—eo o2 3]
b. (=2, &3, o)
c. [—2.7]

d. [-2 2)w[3 wm)
€. no solution

Solve the inequality. Express your answer in interval form.

x4 —Bx+ 220

a. [4,4+ﬂ]
b. [n,4—ﬂ]u[4+ﬂ,n]

(= ] o T
d [4_@,“@]

e. no solution

Solve the inequality. Express your answer in interval form.

(x—2ix+ Dix+ 8120

a. [—eo —2]U[E m)

b. [—eo —8]w[2 eo)

c. [—8 —2]w[Z

d. (-e,-8lu[-2-7]
€. no solution



25.

24. Solve the inequality. Express your answer in interval form.

(Bx- 17 (Bx- D (Ex-51310

c.

o L3 (5
| 1 8’8 a’

no solution

Solve the inequality. Express your answer in interval form.

f—x
3—4x2n
a. |3
i
b. | 3]
— , — ﬁ,
EHED
c. | 3]
—oo — ﬁ,
\-CD4 UI: CD)
d | 3
-, — = ﬁ,
o-]ofaw)
e. no solution
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Name:

Chapter 2

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1.

Solve the equation.

o a0 o w

2 —fx-5=0

H+ -
+
iy

I+

BHooRoH M
Il

L2 L 2
1+

SER

The equation has no real roots.

Solve the equation.

2y +5y—5=0
a. y=-5iu‘E
b farts
4
c. N
yE—
d. -5+ A[65
yE——F
e. 5+ /65
y|mmw

Solve the equation.

2% +3y—3=0

3+ 033
y=—"

i

23+ 433
y=—
NETIS

2

YN ET)

y=——73—

31
-3
'}P:Tiﬁ

Class:

Date:




4. Solve the equation.

052 + 65+ 1=0
a. 1
T3
b _ 2
=
c. 1
T3
d __1
4

e. The equation has no real roots.

5. You are given an equation of the form y = ax? + bx + c. Determine the exact values of the x-intercepts by
using the quadratic formula. Then use a calculator to evaluate the expressions that you obtain. Round the
results to four decimal places.

y=-x2+6x-2
a le_' = = X d.
_4_ A t

=2 | 2 b d oK

e s i e o oy e o e

x=3+ 7 0.3542, 5.6458 x =3+ 7 00,3542, 5.6458



Find a quadratic equation with the roots of #; =1 — »\J'E and 7y =1+ «)‘E . Write the answer in the form

2 .
ax“+hx+c=0, where a, b, and c are integers and @=1.

;oo

@

A ball is thrown straight upward. Suppose that the height of the ball at time ¢ is given by the formula /# = - 13¢
2 +91¢, where h is in feet and ¢ is in seconds, with ¢ = 0 corresponding to the instant that the ball is first

af_-a

x=3+ f6 = 0.5505, 54495

x2 -2x-1=0
x? +x2=0
x2 +3x+1=0
x? -x-1=0
x2 +2x-1=0

tossed.

At what time(s) does the ball reach a height of 130 ft?

o0 o

Find all real solutions.

6y

o0 o

6 sec
3 sec
5 sec

3 sec, 6sec
2 sec, Ssec




10.

11.

Find all real solutions.

& 1+ {13
r=x . —
2
b |- a1
r=x..———
2
C. —1+qﬁ§
A=
2
d |- a1
AT

Find all real solutions.

El
z

-

=17

g==9

t=+3

t=3

t=1 il

¢=1

Solve. Express your answer using interval notation.

oo o

x+ta=2
a. (—m,ﬁ]
b. —m—ﬁ]



12.

13.

14.

Solve. Express your answer using interval notation.

Ox+ 35 <4{x-1)—-=

a ’_m_ﬁ
s 4
b -
_Z,
s 13
c ’_m_i
| 13
d ’_m_i
13
e F_E
2?

Solve. Express your answer using interval notation.

3x+1_x—5 1

3 g T3
(s
(9
o ()

d. (imj

IS

e o
e T T B
=
h
o



15.

16.

17.

Solve. Express your answer using interval notation.

-1 =3x+327

a.
b.

c.
d.

c.

(-2 1]
[:—m, - 1] L [7, mj
[-22]
[-22)
(2]

Solve. Express your answer using interval notation.

1.99 5% _3<1.999

ISHE

e o

@

(9.93, 9.993)
(—m, 9.98] v [9.993, mj
[-9.998,-5.93]

[-9.998,9.93]
[9.98, 9.993 ]

Solve. Express your answer using interval notation.

2

—_




18.

19.

20.

Solve. Express your answer using interval notation.

l-x=7

e
(6.0
c. (ﬁ,mj
(oo
o[-0

Solve. Express your answer using interval notation.

o

‘2—25;:}3
4 r—m—i lzm
! 2 5 U 5:‘
L O R
2 5 U 5:‘
e i
¢ (4,3
574
e
d. ’_m_i'
T4
y :
e 4 .3
315

Data from the Apollo 11 moon mission in July Error in evaluating expression: helpvar2 showed temperature
readings on the lunar surface varying over the interval —155% = = 1117 on the Celsius scale. What is the
corresponding interval on the Fahrenheit scale? (Round the numbers you obtain to the nearest integers.)
Express your answer using interval notation.

a. [-135%F, %4°F |
b. [-301°F, 232°F |
c. [-301°F, 301°F]

[-333°F, 333°F ]
e. [-275°F, 257°F ]

&



21.

22.

23.

Use the graph to solve the inequality.

7 -3 x4+ 1220
|
_JD
4__ P S S e
T-10
T =3_ oy = "'|]_
a. [—CD, 3:IU|:2, 3]
b. (-2 2]
c. [—2 2]w[3, m)
d (-2 2003 o)
e. no solution

Solve the inequality. Express your answer in interval form.

x4 - 2x+ 620

a. [—m,IE—AJIlES]u[12+a,|'138,m]
b. [n, 12 - 43138] U [12+ 133,0]
C.

[12, 12 + AI133]
d. [12— 138, 12 + Aflzs]

e. no solution
Solve the inequality. Express your answer in interval form.

(x—4ix+ Dix+ 920

a. [—oo —2]w[%, o)

b. [—9, —2]w[4, o)

c. [—eo —9]w[-2 —-4]
d. [-eo, =52 )

€. no solution



25.

24. Solve the inequality. Express your answer in interval form.

(Bx- 17 (Bx- D (Ex=-5130

c.

no solution

Solve the inequality. Express your answer in interval form.

f—x
E—Txan
a. | 3]
—o, = |u (6
\ l:::l::IT U[ CD)
b. (=
'\.a,ﬁ]
c. | 3]
- ?_ ﬁ?
\ m? U( CD)
d | 3
- ?__ 6?
\ (4] ? U[ CD:I
e. no solution
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Name: Class: Date:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve the equation.

5p% Sy—2=0

a. _Sif\fE
yET

b si.fe7
Y=g

c. -Si«fE
yE—

d. y=51 JE
e JeT s
YT
2. You are given an equation of the form y = ax? + bx + ¢. Determine the exact values of the x-intercepts by
using the quadratic formula. Then use a calculator to evaluate the expressions that you obtain. Round the
results to four decimal places.

y=x2-12x+26
a. | | | Fou d. = | | |
e b BESesl SRt Py B W e ey
JEI é e e s
- s
g i f i ] i
\ ¢ 8/ « Zo o
ll'n, i i :\ 1
-5 | ! o -f--1 o, |
| [ \

x=6% Af10 = 28377, 9.1623 x=6zx ﬁﬁ3.3542, 8. 6458



o v e
;
_S 1 1 E _S 1 1 1
Y A R ndeval e
=6+ |'1|:| = 28377, 9.1623 The graph has no solutions.
C. = ! ! !

x=fi+ 7 3.3542, 5.6458

3. Find the sum and the product of the roots.

x? +9x-30=0

a. sum: - 9 product: - 30
b. sum: 9 product: - 30
¢. sum: - 30 product: 9
d. sum: 30 product: 9

e. sum: - 5 product: 30

4. Find the sum and the product of the roots.

292 - 16y+5=0

a sum: 8; product: g
b. sum: 16; product: - 10
c.

5
sum: - 8; product: — 3

d. sum: 16; product 5

5
sum: -8; product: 3



Find the sum and the product of the roots.

sum: 2 product: 5

sum: -8 product: 20
sum: -2 product: 20
sum: 20 product: -8
sum: 8 product: 20

Determine the number of real roots the equation has.

a0 os

3x? -4x+7=0

The equation has one real solution.
The equation has no real solution.
The equation has three real solutions.
The equation has two real solutions.
The equation has four real solutions.

Find all solutions.

opoos

bk-5/=1

a. x=+6n,4
b. x=#a

c. x=8&.1
d x=1,3
e. x=92
Find all solutions.
k-6/-3=1
a. x=10,2
b. x=12,-1
c. x=13,0
d x=4

e. x=15,3

Find all solutions.

lx+1|=2x-2
a. x=-3

b. x=4

c. x=5,4

d x=3

e. x=0,3



10.

1.

12.

Find all real solutions.

a 1+ .17
x:
2
b - T3
A= 4 —=—
2
¢ - 13
r=x..———
2
d
1+ .17
x=z
2
© 1+ 17
r== 5

Find all real solutions.

—
b L
I

—_

[

R

A

Il Il
(o=
[

R

o o0 c e
e e e e e
Il
o+ s
[=J
L]

Find all real solutions.

{1—2x+-||fx+5

& - g, - 20
! g
bx=2,—E
g
¢ x=—6—@
' g
d x = — 9,7

e. no real solutions



13.

14.

15.

Solve. Express your answer using interval notation.

Sx+ 7 <4ix-11—-=x=

a ’_m_i
§ o1l
b ”_ 2
11
C F—Hm]
W 2,
d [ 2
2
W
e ’_m_H
2

7 7 *t3
. (o
b 5
(o]
o (s

[¢]
|
8
Is
R

Solve. Express your answer using interval notation.

3.99 E% _1<73.999

a. [14.97, 14.997]

b, [-14.997,-14.97]
c. [-14.997,14.97]
d.

[14.97, 14.997]
e. (—m, 14.9?] v [14.991 mj



Solve. Express your answer using interval notation.

x| <5
o [-59
b, [-em 5]
c

- [-w9)
(3] o [5.)
e. (—5, 5)

Solve. Express your answer using interval notation.

&

d-5x
=
=
a. | 2]
~e,~ %
e i
b. [ 7]

Data from the Apollo 11 moon mission in July Error in evaluating expression: helpvar2 showed temperature
readings on the lunar surface varying over the interval —155% = = 111" on the Celsius scale. What is the
corresponding interval on the Fahrenheit scale? (Round the numbers you obtain to the nearest integers.)
Express your answer using interval notation.

a. [-301°F, 301°F]
b. [-275°F, 257°F |
c. [-333°F, 333°F]
d. [-135°F, 54°F |
e. [-301°F, 232°F ]



19. Data from the Mariner 10 spacecraft (launched November 3, 1973) indicate that the surface temperature on
the planet Mercury varies over the interval —170% = &'= 4007 on the Celsius scale. What is the corresponding
interval on the Fahrenheit scale? (Round the numbers in your answer to the nearest 10°F.) Express your
answer using interval notation.

a. [-270°F, 760°F |
b. [-270°F, 750°F ]
c. [-280°F, 750°F |
d. [-280°F, 730°F ]
e. [-280°F, 760°F |

20. Use the graph to solve the inequality.

Y 16x” + 9x? - 256k + 257 <00

(-4, 2)
no solution

©po o
.
u[\\_'l
8



21. Use the graph to solve the inequality.

—dx+ B2 <0

Ty
.z'_—.-i-'-.+:.:.||: 2

:_H _+' _:‘1 s ?
-z
-4
L ¢
=

a. [—3 co)

b. [—eo —3)

c. (—eo 33 o)

d. {—eo, =3)ui-3 )

e. [ —eo o)

f. 1o solution



23.

22. Use the graph to solve the inequality.

7 —3x —dx+ 1220

a. (=2, 203 m)
b. [-eo 32, 3]
c. [—2.7]

d. [-2 2]w[3 wm)
€. no solution

Solve the inequality. Express your answer in interval form.

x4 —dx+ 120

22+ 4]

[t ] [oe )
C. [2—«;@,2+«E]

(RN MY

e. no solution

o

a



25.

24. Solve the inequality. Express your answer in interval form.

fxl—x+ 320

a. [_@@]
b. [6—«,‘?,6+ﬁ]

(3~ +f223+ 2]
d [-z—ﬂ,-wdﬁ]

€. o solution
Solve the inequality. Express your answer in interval form.

2
zx—_lgn
o+ 9+ 18

(=6, -3 w1, e0)

{—eo, —fi]w[-3 -1] w1, el
(-6 -3 [-1,1]

{—eo, —6)w(—3 —1] w1, o)
no solution

o0 o
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Name: Class: Date:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve the equation.
2y Sy—2=0

a. y=5iu‘rﬁ
b sl

4

c. -5+ A4
y=———

d. Jas s
Y=g

e. yzﬂi«fﬁ

2




2. You are given an equation of the form y = ax? + bx + ¢. Determine the exact values of the x-intercepts by
using the quadratic formula. Then use a calculator to evaluate the expressions that you obtain. Round the
results to four decimal places.

y=-x2+10x-15
a. d. g v
=51 T~ 2.3542, 7.6458
b. €.
The graph has no solutions.
c.

O et et i

x=5% /10 = 1LE37Y, 8.1623



3. Find the sum and the product of the roots.
x2 +8x-10=0

sum: 10 product: 8
sum: - 10 product: 8
sum: 8 product: - 10
sum: - 4 product: 10
sum: - 8 product: - 10

4. Find the sum and the product of the roots.

oo o

292 ~14p+9=0

a sum: -7; product: %
b. sum: 14; product 9

< sum: - 7; product: —%
d.

9
sum: 7; product: 3

e. sum: 14; product: - 18
5. Find the sum and the product of the roots.

1o
gy =5

sum: 2 product: 5

sum: 20 product: -8
sum: -8 product: 20
sum: 8 product: 20
sum: -2 product: 20

6. Determine the number of real roots the equation has.

ope os

Tx? -6x+5=0

a. The equation has no real solution.

b. The equation has one real solution.

c. The equation has two real solutions.
d. The equation has three real solutions.
e. The equation has four real solutions.

7. Find all solutions.

k-5=3

o o0 o
I R R R
1l
O Lh Tk G0 L

Foh o —



10.

1.

Find all solutions.
e -3]-

x=17,0
x=14,-2
x=6,-1
x=9,-3
x=3

Find all solutions.

oo o

|x+4|=2x-2

, 6

6

e i

"R R R
[

wn | N W

x=38,5
Find all real solutions.

x* +x? -1=
a. B ’\Ilrﬁ
N2
b. /\,"ﬁ
Tz
c 1+£
x== —

f:n

-1+
2z

e.
r==

Find all real solutions.

3

14 =64

a. =4

b. t=+4
c. t=t16
d =16
e. =+ 256



12.

13.

14.

Find all real solutions.

{?—3x+f;~<+4=5

a x = -9 2

b. x = - 2,2

¢ x=-3 -7

g
dx=4,—E
f

e. no real solutions
Solve. Express your answer using interval notation.

dx+12<3(x-1)—-=x=

a F—Em]
kN 2,

b r—iljl
s 157

c ’_m_i
| 15

d ’_m_E
W , 2

e “’_m_i'

’ 15_

Solve. Express your answer using interval notation.

3x+2 x-13 ~=ix+g
3 f 3




15.

16.

17.

Solve. Express your answer using interval notation.

1.99 5% ~7<1.999

a. [-7.998-7.93]

b, [-7.998,7.98]

c. [7.98 7.993]

d (- 7.98] w[7.998 )
c.

(7‘.93, 7.993)

Solve. Express your answer using interval notation.
|x] =4

o (ot o [4)

b [-4,4]
C. [—m,4]
d. [-4.4]

- [4)

Solve. Express your answer using interval notation.

‘3—24;: -
a. |
3,1
4°°4
e
b. [ 3 _1]
._EJEE.
c. | 7] 1
e
d "_m_z 2100
I‘- 2 4 U 4:‘
e ’_m_z'
" g
e A



18.

19.

20.

Data from the Apollo 11 moon mission in July Error in evaluating expression: helpvar2 showed temperature
readings on the lunar surface varying over the interval —155% = &= 1117 on the Celsius scale. What is the
corresponding interval on the Fahrenheit scale? (Round the numbers you obtain to the nearest integers.)
Express your answer using interval notation.

[-333°F, 333°F ]

. [-301°F, 232°F |

c. [-301°F, 301°F]

d. [-135°F, 54°F |

[-275°F, 257°F ]

Data from the Mariner 10 spacecraft (launched November 3, 1973) indicate that the surface temperature on
the planet Mercury varies over the interval —160° = &' =480~ on the Celsius scale. What is the corresponding

interval on the Fahrenheit scale? (Round the numbers in your answer to the nearest 10°F.) Express your
answer using interval notation.

o

@

a. [-250°F, 900°F
b. [-250°F, 890°F
c. [-250°F, 920°F
d. [-260°F, 330°F
[-260°F, 900°F |

Use the graph to solve the inequality.

—_—

@

2 —16x” + 0x? - 256x + 257 <00

(2, o)
(—co, —4)
(-4, 2)

no solution

oo o



21. Use the graph to solve the inequality.

—Ax+ DL
2
y == 3ix + 3)° 5
8 o - 2 i
-2
-4
| .
-8

{—eo 3 (3, o)
(—eo -3 —3 )

mo a0 o
P
|
“LA:I
8

no solution



23.

22. Use the graph to solve the inequality.

7 —3x —dx+ 1220

a. [—2, 2]w[3, )
b. [-eo 32, 3]
c. [—2.7]

d. (=2, 203 m)
€. no solution

Solve the inequality. Express your answer in interval form.

x4 - 12x+320

a. [6—@,6+«;‘E]
b. [n,ﬁ—ﬁ]u[mﬁ,n]

(]
e MO

e. no solution



25.

24. Solve the inequality. Express your answer in interval form.

Sxl—x+ A0

a. [-l—f\fﬁ,-l+«i{ﬁ]
b. [_ﬁﬁ]

[ s ]
d. [6—«,‘5,6+«E]

e. no solution

Solve the inequality. Express your answer in interval form.
2

2?[——1 =

o+ 10x+ 24

a. [—eo —flw[-4.-1]w ][], 0

b. (-6, -4 [-1,1]

c. [—eo, —fiu(—4 —1]w(l, el

d. (-6 -4l o)

€. o solution
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Name: Class: Date:

Chapter 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Solve the equation.

2y +7y—2=10
a. JET 7
sz
b. ¥= Tiu‘E
c -7+ 65

y=—7
o 7x.fe7

B 2




2. You are given an equation of the form y = ax? + bx + ¢. Determine the exact values of the x-intercepts by
using the quadratic formula. Then use a calculator to evaluate the expressions that you obtain. Round the
results to four decimal places.

y=-x2+10x-18

b. € Zrpeebscie it
5 o]
2.5 EI 7.5 liﬁlx
=5+ ﬁ w 2.3542 76458 The graph has no solutions.
c.

x=5+ 7 2.3542, 7.6458



3. Find the sum and the product of the roots.
x2 +7x-30=0

sum: 15 product: 7
sum: - 7 product: - 30
sum: - 30 product: 7
sum: - 4 product: 30
sum: 7 product: - 30

oo o

4. Find the sum and the product of the roots.
4y? -32y+3=0

sum: 32; product 3

o

3
sum: -8; product: r

3
sum: 8; product: — r

3
sum: §; product: 2

e. sum: 32; product: - 12
5. Find the sum and the product of the roots.

1o
gy =5

sum: 8 product: 20
sum: 2 product: 5

sum: -2 product: 20
sum: 20 product: -8
sum: -8 product: 20

6. Determine the number of real roots the equation has.

ope os

8x2 -10x+5=0

The equation has three real solutions.
The equation has no real solution.
The equation has two real solutions.
The equation has one real solution.
The equation has four real solutions.

7. Find all solutions.

o0 o

k-7=1

o o0 W
BB B MM
I
[l I L
[



10.

1.

Find all solutions.
k-4/-3=1

x=2
x=28,0
x=11,-2
x=13,1
x=6,3

Find all solutions.

oo o

|x+5]|=3x-3

2,3

-

4
3
7

o0 o
R TR 2 TR o TR
Il
N

4
Find all real solutions.

x* +5x%2 -1=0
a. 5—'\1'@
r=z=
2
b.
—5+ . 23
x:
2
¢ s- .13
x:
2
d
—5+ {29
r=z=
2
© —5+.f29
== 5

Find all real solutions.

3
2

-

=125

g=125
t==+ A%
t=125
t=5
=15

oo o



12.

13.

14.

Find all real solutions.

{?—3x+f;~<+4=5

. x -6 - 13
YT
bx=—8,—E
9
c x = —05 2
d x=—31—z
4

e. no real solutions
Solve. Express your answer using interval notation.

Sx+3<4iz-1-=x=

a ’_m_g
s 7
b ”_zm]
kN 2,
c ’_m_z
W , 2
d ’_m_g
W , ?
e. | =
\._T,I:I]

Solve. Express your answer using interval notation.

2x+1 x-13

1
< + —
2 g3 T3



15.

16.

17.

Solve. Express your answer using interval notation.

2.99 5% ~ 772999

a. [-5.998-9.93]

b [~o0,9.98] i [9.998, o]
c. [9.989.998)

d. [9.98 5.993]

e. [-9.995,9.93]

Solve. Express your answer using interval notation.

|x] =3
a. [:—m,—3] L [3, mj
b. [-3 3]

. [
d. (— 3, 3)

e. [—m, 3]

Solve. Express your answer using interval notation.

‘3—25;: -
a. ’_Eli
3705
L8
b. ’_m_z lim
! 2 5 U 5:‘
c ”_ _E-
T4
iy h
d. _Eli
L 5, 5.
e. | 3] [ ]
—m—g 1=, o
L8




18.

19.

20.

Data from the Apollo 11 moon mission in July Error in evaluating expression: helpvar2 showed temperature
readings on the lunar surface varying over the interval —155% = &= 1117 on the Celsius scale. What is the
corresponding interval on the Fahrenheit scale? (Round the numbers you obtain to the nearest integers.)
Express your answer using interval notation.

[-301°F, 301°F ]
. [-301°F, 232°F |
c. [-275°F, 257°F]
d. [-333°F, 333°F ]

[-135°F, 94°F ]

Data from the Mariner 10 spacecraft (launched November 3, 1973) indicate that the surface temperature on
the planet Mercury varies over the interval —140% = &' =490 on the Celsius scale. What is the corresponding

interval on the Fahrenheit scale? (Round the numbers in your answer to the nearest 10°F.) Express your
answer using interval notation.

o

@

a. [-230°F, 910°F
b. [-220°F, 910°F
c. [-230°F, 890°F
d. [-230°F, 500°F
[-220°F, 900°F |

Use the graph to solve the inequality.

—_—

@

¥t —ax Ext —dx+ 420

co)
(—eo, -1}
(-3

(3, eo)

no solution

oo o



21. Use the graph to solve the inequality.

—Hx+ 2 <0

Tw
.f'ﬂ—zlt—l-ZI: 2

8 -5 -4 2 2
-z
-4
\1-6
+ B
]

a. [—to co)

b. {—eo 212 o)

c. [—en, —-2)

d (-2 e

e. (—wo —2)ui-2, co)

f. 1o solution



23.

22. Use the graph to solve the inequality.

7 —3x —dx+ 1220

]

1w [3 oo

[—eo 3 (2, 1]

(=2, 2003, m)

no solution

Solve the inequality. Express your answer in interval form.

-2
-2

o a0 o

x4 - 20x+ 520

a. [_m,m_,\.'ﬁ]u[lﬂ"‘ﬁ:m]
b. [n,m—ﬁ]U[m*ﬁﬂ]
c. [m,mﬂiﬁ]

d

[m—ﬁ,m+ JE]

e. no solution



25.

24. Solve the inequality. Express your answer in interval form.

Al —x+320

a. [_ﬁﬁ]
b. [3_£,3+£]

[ e
d. [3_@,3+@]

e. no solution

Solve the inequality. Express your answer in interval form.
2

2?{——1 =]

x°+8x+ 13

a. [—eo —flw[-3-1]w][l, 0

b. (—eo —f)o(—3,-1] w1, e

c. (-6 -3[-11]

d. (—6,=-3)w[L, o)

€. o solution
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